Calcular Porcientos (C)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de $387.00 es
$46.44?

- ¢Qué porciento de $2,647.00 es
$1,826.43?

- ¢Qué porciento de $5,086.00 es
$2,593.867

. ¢Qué porciento de $1,811.00 es
$851.17?

- ;Qué porciento de $1,619.00 es
$1,262.82?

[\

10.

. ¢Qué porciento de $6,960.00 es

$5,011.207

;Qué porciento de $9,507.00 es
$8,841.517?

. ¢Qué porciento de $368.00 es

$242.88?

;Qué porciento de $508.00 es
$350.52?

.Qué porciento de $68.00 es
$44.20?
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Calcular Porcientos (C) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de $387.00 es
$46.44?
12%

- ¢Qué porciento de $2,647.00 es
$1,826.43?
69%

- ¢Qué porciento de $5,086.00 es
$2,593.867
51%

. ¢Qué porciento de $1,811.00 es
$851.17?
47%

- ;Qué porciento de $1,619.00 es
$1,262.82?
78%

[\

10.

. ¢Qué porciento de $6,960.00 es

$5,011.207
72%

;Qué porciento de $9,507.00 es
$8,841.517?
93%

. ¢Qué porciento de $368.00 es

$242.88?
66%

;Qué porciento de $508.00 es
$350.52?
69%

.Qué porciento de $68.00 es
$44.20?
65%
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